Bc/Eng (BCM)-104

2021
( 1st Semester )

GENERAL ENGLISH

( Commerce )

Paper No. : ENG (BCM)-104
( Prose, Composition and Grammar )

( PART : A—OBJECTIVE )
( Marks : 26)

The figures in the margin indicate full marks
for the questions

SECTION—I
( Prose )

1. Answer the following questions : 2x6=12
(@) Explain the nature of ‘strike vote’ in Industry.
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(2)

(b) Why is ‘sycophancy’ a necessity in Banking?
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{0 How do the responsibilities of modern business
executives compare with the traditional
responsibility?
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(4)

(d) Briefly explain the role of a News agency.
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(5)

() Why was it important for Crusoe to dr
balance sheet? it g
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(6)

() What does Nicolson consider to be the most
revolutionary of all modern inventions? Why?
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(7)

SECTION—II

( Grammar )

2. Correct the following sentences : 1x7="7

(@ If I will visit Kohima, I will meet you.

(b) She is married with a Doctor.

(c) Every students is in queue.

(d) Although it was raining, but we went to market.

(e} My brother and me went to the mall.
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(8)

() She is more clever then her.

(g) Each of the cars are fast.

3. Supply the proper forms of the adjectives : 1x7=7
(@) John iS .....cccooevvviiiivineiiiiienaananannn, of the two
brothers.

( rich; richer; richest )

( much; many; more )

(c) When the old woman became
she began to move about,

oooooooooooooooooooooooooooo

(stronger; more strong )
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(9)

(d) The brides were much ............
man thc groOms‘ .........................

( young; younger; youngest )

() He i i than 1 thought
him to be

( intelligent; more intelligent;

most intelligent )

(f) TRE .o thing of all was

that his son was rude to him.

( bad; worse; worst )

(g) 18 there .....ocoovimmniisrinminensinsereeess milk left?

( any; some; many )

* ok ok
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